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A3 = QQI[x,y,z];
V = ideal(3%x"2%ky”2 — 4%x"3%z — 4%y"3 + 6kxxkyxz — z°2)

2 2 3 3 2
ideal(3x y - 4x z - 4y + 6Xky*z — Z )

Ideal of A3

Vsing = trim ideal singularLocus V

2 2 2 2 3
ideal (xky - 2Xx z + y*z, Xy — 2y + X%z, 2X - 3Xxy + z2)

Ideal of A3
saturate oo

2 2 2 2 3
ideal (xky - 2Xx z + y*z, Xy — 2y + X%z, 2X =— 3xky + zZ)

Ideal of A3
codim Vsing

2




ideal(y—-x”2,z-x"3)

2 3
ideal (- x +vy, - X + 2)

Ideal of A3
isSubset(V, C)
true

C == Vsing
false

radical Vsing

2 3
ideal (x -y, x - z)

Ideal of A3

== radical Vsing

true



